(1) #MEFRED)

ES

%

R

HRERT

A

(G)

BKDODEELGL

BEGRASR

B E KRB

LIRS

T3

2 &

RITEBH L
ErE o @

2 &

ETiE:

@

3

10,697

S0 N BH 2 S0 B S 3

o

E 3

H

H

H 48 ¥

b
ipmip = pl SRR e

B bh I B 2

£ B D % S ok B ot 58 5 D A 2 S S > SO R 11 R 3 i ) I B 3% B 1 S 3 S E S oo e T
paiy

# R

fEl

L &

LA

& M|

B X

BT RET

10,697

AIFEEE|

HNYE

HnER

B

5 &

HEERE

&

EEMEAH

B

10,697




HERFRA

2
<

BEDR

.I.

B

R
ﬁ%m
;g
[
SW=F
O
1R
ZER
B
M
RES

EEEE

&3
i

= B
z i
AL

JI

=

#

R
mEﬁ%

aIFEHE
BN
HEEE

EERTR
HEES

2 &

2
<

i

#

z &

ETiE:

g 5 Ik

17

2 &

T3

a.

X & 4 e

2 &

ETiE:

#

2 &

T3

Al & K 1

z &




(1) #MEFR(ZED2)

ES

R

HERTIR
%

HEISE

EEEY

AT R

HBEEETR

# z <

KRH (8) =

ETiE:

z &

T

2 &

S

Sh N BH 2 S0 B S 3

o

E 3

P

H 48 ¥

b
ipmip = pl SRR e

B bh I E 2

£ B D % S ok i oot 52 5 5 D A 28 S S 4 SO R 11 R 3 K 5 I B 3% B -H 5 3 S E S oo e T
paiy

BT RET

aRFEHE|

EINVEE

BEHEE

m AT

7 #E

HEEE

BEE

EEMESE

& T




& i 7 ] &

i O 2 ==
IEhKE NIRRT N K G/K H/K BEFRA
(H)
| EETE £ 8 EIFTH ol elsid £ EIFTH ol B £ B8 _ETH ol
100/ 6,351,327 deiEE
315 10,715,781 ' &
87| 14,938,376 5 F
376 15,733,264 = B
255 9,999,620 M M|
197 9,950,860 [T
1 10,697 226 21,234,804 0.4 o] & B
1 214,434 EIR
3 35,395 K
5 218,706 #E
9 752,642 % E
1 362,069 F E
-
#HR
281 11,592,929 E)
8 121,033 E W
237/ 6,188,833 a
195 9,888,539 =
3 693,892 w3
63] 2,001,986 E %
57 2,411,794 I B
349 17,323,698 #
14 491,507 Z
48| 1,424,802 =l
14 914,867 #% B
27 290,157 "W
3 35,520 X B
10 156,507 E B
5 45,138 ZE R
5 136,510 FoErL
5 W
39 743,876 5 8
10 182,780 [
76]  1,994817 Nl
187 3,960,344 [IT =]
1 23,932 )
5 215,522 EF
132 1,610,359 Z B
64 1,797,754 = A
22 1,192,174 & [
6 403,511 & B
7 284,476 &k &
219] 8,950,720 N
204] 7,208,807 X 7
471 20,192,018 = B
145 3,239,596 BERS
3 41,001 L]
AL iR
23 378,124 i &
SW=F
F ¥
JI g
FHIER
s
120/ 6,901,204 B &
39] 2,284,193 E R
Z2EE
1 38,161 "W
X K
®

#F
[
5 82,876 L B
2 44,079 EF
& [
B K

1 10,697] 4,675 205995314 0.0 0.0] £BERFEET

BFEHE

HINEE

2EEE

mETS
]

ERE
MFHEE

EEMESE

1 10,697] 4675 205,995,314 0.0 00] & =1




METF (D 1)

(2)

2B

i

=

®

w [
® (4
oy
B
%;J
K o[ @
%%
e U
s o
i}

O |
LSS
i

IS

m I
w1
i |
|
S
"
g s EEE S & =EREW e mat e EE R =& REER e @ s
Epﬁ _,m A K 8 4 _ulmm.l,.nvlwspm +n~ m_ tmm.ﬁammm




28

o S s
B | SEeEEraRcEHKeERIScREEERMREESU IR IAOESHREREACEEE SolinsnEnasies wanzes & REREele @ I
i 33 W 00 00 38 T 4 T B T K K R B R E N T M KR K B R RIS EERERNEK EENSEE WMﬁm %m w e
= = S i

>
28BS

<

o

#
S

El'xh
28

T B 4 I

i
<Toie:

28

xt & 5 I &

S

#
28

g
TS

Al & M AT
2 8

=T




7 5% R ¥
(2) THETH (ZD2)

x
%ﬂiégﬁ?% HEIT= BEHTE 1T 48 R HETETR #® oz < KA GB) B

et - 7 S T S R .

&

i S 9 i £ 52 Do DiE T e

SO BH 2 >t 5 e & BB 5 - 3

B H 55

i

=

E 3

R

paiy
i< )

&
i 1 B | 3 - O T 556 2

> bt Bl E

£ R D A % S R 30k R N 5 5 5 D B am 231 n A S 11 R 3 S i 5 o o 2%

Bk

5

i E Tl

g

e SHEE M
P E

HERTRE

BITEHAE|

BMEE
AEES

el =g

% &
MERE
mEE

EEEAH

E 3




& i n ] &

1% - tt =
FE TR LY E i “ B K G/K H K MERRE
LB 2 & B 2 & B 2 &8 B 2 & B 2 8 _ENHN 2 &

152| 3,714,628 dbimiE

224| 3,885,143 7 &

186] 2,151,283 5 F

215/ 3,750,195 = O

135/ 1,965,809 # |

125 4,471,067 [T

98] 3,128,979 B 5

R W

2 11,552 m K

1 19,843 B

7 812,668 B E

2 11,208 F E

R’ R

1 11,674 Ci3ll|
95| 2,148,863 i
15 263,188 E W
107| 1,405,488 a
69 2,062,628 &

1 13,377 -
126] 2,389,779 & B
22 181,201 I B
103] 3,233,101 B M
13 651,486 2 M
62 666,133 = -

8 30,901 # B
40 186,344 =MW

X K

7 32,533 g E
11 467,726 = R

9 180,328 FERL

1 15,521 5 W
34 514,405 5 R

9 192,185 i
68 488,715 N
219 2,164,717 [T =|
50 359,513 ]

E

58 783,847 2 B
198 1,854,037 = A
38 737,151 & [
35 765,712 kB
27 508,958 £ &
249 5441847 B K
238| 1,978,799 X &
984 16,725,171 = B
188] 2,838,821 ERS

6 59,059 ]

£l 18
il &
SWvFE
F E
JI W
AR
B E
E R
Z2HE
=MW
X K
®
# R
i
E 5
de A
= M
B K
4238 73,275,583 HERFEET
BIEHS
N &
ZEHES
P B
5 &
FEES
MFHmE
EHEMAAE

2,238 73.275583 B




7 FS R 1%
(3)

op

B (ZD1)

s
B3
N

3
o
b3
Iht
=

%ﬂiﬁgﬁ?l—% B B R E WMEODERLGL| BELXAR T m &

(G) RISELH WL
et S 77 S T S

i

2B

&

10,697

TS S8 52 ool D b e

SO BH 2 >t 55 e & BB 5 - 3

o

E 3

R

paiy
=

&
i 1 B | ) - O T 556 2

> bt B B

0 Do >+ 27 W 15 b ok 4 o 2k - B v 2 Dk St B 111 0 o S H S

i E Tl

g

i o B E
P E

& AT 5 1 10,697

BIEHE|

BMEE

AEES

el =g

% &

MERE

mEE

EEEAH

B &t 1 10,697




28

= = =
B | SeEEreRkEMKKCRISrREGERMKEEReIERIR OGS RRERE TR SolinraanEsues tIazae & ERERedw € |
) 33 0 00 T A A - K T T S K R B E A T R K M RIS REREREEK EENSEE WMﬁm = w e
% = E in

>
28BS

<

o

#
S

gfxb
28

T B 4 I

i
<Toie:

28

xt & 5 I &

S

#
28

g
TS

Al & M AT
2 8

=T




(3)

op

FH(ED2)

ES

R

HERTIR
%

HEISE

EEEY

AT R

HBEEETR

# z <

KRH (8) =

ETiE:

z &

T

2 &

S

Sh N BH 2 S0 B S 3

o

E 3

P

H 48 ¥

b
ipmip = pl SRR e

B bh I E 2

£ B D % S ok i oot 52 5 5 D A 28 S S 4 SO R 11 R 3 K 5 I B 3% B -H 5 3 S E S oo e T
paiy

BT RET

aRFEHE|

EINVEE

BEHEE

maﬁ%

7 #E




& i 7 4] =

i O 2 ==
IEhKE NIRRT N K G/K H /K BEFRA
(H)
| EETE £ 8 EIFTH ol elsid £ EIFTH ol B £ B8 _ETH ol
252/ 10,065,955 deiEE
539 14,600,924 F &
273 17,089,659 5 F
591 19,483,459 = B
390 11,965,429 M M|
322| 14421927 [T
1 10,697 324 24,363,783 0.3 oo] & B
1 214,434 EIR
5 46,947 K
6 238,549 #E
16| 1565310 % E
3 373,277 F E
-
1 11,674 #wEI
376 13,741,792 R
23 384,221 E W
344 7594321 a
264| 11,951,167 =
4 707,269 w3
189 4,391,765 E %
79 2,592,995 I B
452 20,556,799 #
27 1,142,993 Z
110/ 2,090,935 =l
22 945,768 #% B
67 476,501 "W
3 35,520 X B
17 189,040 E B
16 512,864 ZE R
14 316,838 FoErL
1 15,521 E W
73] 1,258,281 5 8
19 374,965 [
144) 2483532 Nl
406 6,125,061 [ITR =]
51 383,445 )
5 215,522 EF
190| 2,394,206 Z B
262] 3,651,791 = A
60 1,929,325 & [
41 1,169,223 & B
34 793,434 &k &
468 14,392,567 N
442| 9,187,606 X 7
1,455 36,917,189 = B
333] 6078417 BERS
9 100,060 L]
AL iR
23 378,124 i &
SW=F
F ¥
JI g
FHIER
R
120/ 6,901,204 B &
39] 2,284,193 E R
Z2EE
1 38,161 "W
X K
®

#F
[
5 82,876 L B
2 44,079 EF
& [
B K

1 10,697] 8913 279,270,897 0.0 0.0] £BERFEET

BFEHE

HINEE

2EEE

mETS
]

HERE
MFHEE

EEMESE
1 10,697] 8913 279,270,897 0.0 00] & &f




